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Questions can be answered in Hindi or English only

Tl & I daw FE (S9ArNT) s st ()
ferfy F fig wr ot &

1. (@) What is meant by the latest slogan of
the Government of India, “Aapka Paisa
Aapke Haath™ Outline the objective,
modus operandi and challenges before
the Government in the implementation
of this slogan. 3
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What are the implications of the latest
UN General Assembly Vote on
Palestine's new status as a UN
non-member observer?
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What are the newest guidelines of the
Union Government to stop the misuse of
the Information of Technology Act?
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Why were the following personalities in
news recently?
Shreya Singhal ; Malala Yousafzai.
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What was the character of socio-religious
reforms in the 19th century and how did they
contribute to the national aw: i in
India?
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{c/ What are the three key [eatures of
traditional self-governance in Santhal
Pargana?
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{d)] What are the major reasons for
relatively lower credit deposit ratio of
banks in Jharkhand?
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Explain the meaning and use of the
following legal terminologies : 12
Amicus curiae ; Articulo mortis ;
Bailment ; Caveat emptor ;
Certiorari ; Causa mortis ; Felony ;
Habeas corpus ; Perjury ; Per
curiam ; Quid pro quo ; Suo motu.
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What led to frequent revolts of different
tribal groups of Jharkhand under the
British rule during the period 1771 to
1900 AD? &
1771 e # 1900 4o & i faftw wwawm 7
e & fifim s g % g anean
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Mame three metallic minerals ooourring

in Jharkhand with their places of
deposits in the State. 3
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How did communalism manifest in Indian
political scene? Explain the background of
the passing of momentous ‘Pakistan
Resolation’,
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fa) Explain how the Himalayan and the
Tibetan highlands play an important
role  in  the development of the
southwestern monsoon,
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fb) “Chhota Nagpur plateay is geologically
different from Deccan plateau.” Explain,
"reET W T, T AN S apimbs o
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fc)  Why do tropical cyclones mostly hit the
east coast of India and not the west
coast?
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In recent times, what are the two
important measures taken by Union
Government to reduce fiscal deficit in
India?
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What are the three major objectives of
12th Five-Year Plan in India?
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Define micro, small and medium
enterprise.
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Why is the sky blue?
e e w4 den ¥

Why is water or mercury always round
when dropped on a clean glass?
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= 8 W B

Artificial satellites are always launched
from the earth in the eastward
direction. Why?
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Sugar gets charred on heating, why?
4 ® Tm w W T§ e B w0
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Why does the mass of an iron rod
increase on rusting?
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Comment on the salient features of
Indian political system with special
reference to its ideclogical aspects.
i T wen i gEa e W
oo ot g opeE & wed 8w
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Discuss the ways in which the
legislature can exercise control over the
working of bureaucracy in India.
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Are Tndicted’, ‘Arraigned’ and ‘Charged’
different ways of saying the same thing
or are they separate legal terms?
Explain.
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How are the legal terms ‘codicil’ and

‘probate’ related to a person's will? Who
is an ‘executor’ and how is it appointed?
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